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Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634042636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340168401. 1

686340168402. 2

686340168403. 3
686340168404. 4

Question Number : 2 Question Id : 68634042637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340168405. 1
686340168406. 2
686340168407. 3
686340168408. 4



Question Number : 3 Question Id : 68634042638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401684009. 1
686340168410. 2

686340168411. 3
686340168412. 4

Question Number : 4 Question Id : 68634042639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340168413. 1
686340168414. 2

686340168415. 3
686340168416. 4

Question Number : 5 Question Id : 68634042640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340168417. 1
686340168418. 2
686340168419. 3
686340168420. 4

Question Id : 68634042635 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634042636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340168401. 1
686340168402. 2
686340168403. 3
686340168404. 4

Question Number : 2 Question Id : 68634042637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340168405. 1
686340168406. 2
686340168407. 3
686340168408. 4

Question Number : 3 Question Id : 68634042638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340168409. 1
686340168410. 2
686340168411. 3
686340168412. 4

Question Number : 4 Question Id : 68634042639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340168413. 1
686340168414. 2
686340168415. 3



686340168416. 4

Question Number : 5 Question Id : 68634042640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and tallkies were destined to become obsolete
4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340168417. 1
686340168418. 2
686340168419. 3
686340168420. 4

Sub-Section Number : 2
Sub-Section Id : 6863401398
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634042641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood in Dartmoor National Park

1.LAB.C.D

[ ]

DCB.A
3.B.D.A.C
4.C,A,D,B

Options :

686340168421. 1
686340168422, 2
686340168423. 3
686340168424. 4



Question Number : 6 Question Id : 68634042641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood in Dartmoor National Park

LABC.D

| )

.D,C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340168421. 1
686340168422 2
686340168423. 3
686340168424. 4

Question Number : 7 Question Id : 68634042642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

fa—y

. Epigraphy

[ )

. Calligraphy

Lad

. Cartography

=

. Topography

Options :

686340168425. 1
686340168426. 2
686340168427. 3
686340168428. 4

Question Number : 7 Question Id : 68634042642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340168425. 1
686340168426. 2
686340168427. 3
686340168428. 4

Question Number : 8 Question Id : 68634042643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340168429. 1
686340168430. 2
686340168431. 3
686340168432. 4

Question Number : 8 Question Id : 68634042643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340168429. 1
686340168430. 2



686340168431. 3
686340168432. 4

Question Number : 9 Question Id : 68634042644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair of prepositions to fill in the blanks of the following sentence:

She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340168433. 1

686340168434. 2

686340168435. 3
686340168436. 4

Question Number : 9 Question Id : 68634042644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside
4. with. on
Options :
686340168433. 1
686340168434. 2

686340168435. 3
686340168436. 4

Question Number : 10 Question Id : 68634042645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340168437. 1
686340168438. 2
686340168439. 3
686340168440. 4

Question Number : 10 Question Id : 68634042645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340168437. 1
686340168438. 2
686340168439. 3
686340168440. 4



Question Number : 11 Question Id : 68634042646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340168441. 1
686340168442 2
686340168443. 3
686340168444. 4

Question Number : 11 Question Id : 68634042646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340168441. 1
686340168442 2
686340168443. 3
686340168444. 4

Question Number : 12 Question Id : 68634042647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340168445. 1
686340168446. 2
686340168447. 3
686340168448. 4

Question Number : 12 Question Id : 68634042647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340168445. 1
686340168446. 2
686340168447. 3
686340168448. 4

Question Number : 13 Question Id : 68634042648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

L P58 BFEE
2. 10:9
3. 114:113

4, 196:187

Options :

686340168449. 1
686340168450. 2
686340168451. 3
686340168452. 4

Question Number : 13 Question Id : 68634042648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11
2. 10:9
3. 114:113

4. 196:187

Options :

686340168449. 1
686340168450. 2
686340168451. 3
686340168452. 4

Question Number : 14 Question Id : 68634042649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year,
payable half yearly and the simple interest for 1 year is ¥ 56. The sum 1s:

1.2 5,780

[ ]
AH
=
e}
=
F



Options :

686340168453. 1
686340168454. 2
686340168455. 3
686340168456. 4

Question Number : 14 Question Id : 68634042649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.3 5,780
2.3 7.805
3.2 7.850
4,3 8,750
Options :
686340168453. 1
686340168454. 2

686340168455. 3
686340168456. 4

Question Number : 15 Question Id : 68634042650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys 1s 22 years. Eight times the age of the youngest of them 1s 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he 1s 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years
4. 28 years
Options :
686340168457. 1
686340168458. 2

686340168459. 3
686340168460. 4

Question Number : 15 Question Id : 68634042650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 vears

| )

. 25 years
3. 26 years
4. 28 years
Options :
686340168457. 1
686340168458. 2

686340168459. 3
686340168460. 4

Question Number : 16 Question Id : 68634042651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing,

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340168461. 1
686340168462. 2
686340168463. 3
686340168464. 4

Question Number : 16 Question Id : 68634042651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows

Options :

686340168461. 1
686340168462. 2
686340168463. 3
686340168464. 4

Question Number : 17 Question Id : 68634042652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340168465. 1
686340168466. 2
686340168467. 3
686340168468. 4

Question Number : 17 Question Id : 68634042652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340168465. 1
686340168466. 2
686340168467. 3
686340168468. 4

Question Number : 18 Question Id : 68634042653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340168469. 1
686340168470. 2
686340168471. 3
686340168472. 4

Question Number : 18 Question Id : 68634042653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340168469. 1
686340168470. 2
686340168471. 3
686340168472. 4

Question Number : 19 Question Id : 68634042654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the mirror image of the given combination
"ANS4WMG3"
LEOMWEREZHMA
ZEDWMPSNY
33GWMt2 MV
41 ECWMYPIUY
Options :
686340168473. 1
686340168474. 2

686340168475. 3
686340168476. 4

Question Number : 19 Question Id : 68634042654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340168473. 1
686340168474. 2
686340168475. 3
686340168476. 4

Question Number : 20 Question Id : 68634042655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340168477. 1
686340168478. 2
686340168479. 3
686340168480. 4

Question Number : 20 Question Id : 68634042655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340168477. 1
686340168478. 2
686340168479. 3
686340168480. 4

Question Number : 21 Question Id : 68634042656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite
4. INSAT
Options :
686340168481. 1
686340168482. 2

686340168483. 3
686340168484. 4

Question Number : 21 Question Id : 68634042656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340168481. 1
686340168482. 2
686340168483. 3
686340168484. 4

Question Number : 22 Question Id : 68634042657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340168485. 1
686340168486. 2
686340168487. 3
686340168488. 4

Question Number : 22 Question Id : 68634042657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. AIIL, B-IV, C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340168485. 1
686340168486. 2
686340168487. 3
686340168488. 4

Question Number : 23 Question Id : 68634042658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

[F%]

. Interpellation
4. Yielding the floor

Options :

686340168489. 1
686340168490. 2
686340168491. 3
686340168492 4

Question Number : 23 Question Id : 68634042658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

Lad

. Interpellation
4. Yielding the floor

Options :

686340168489. 1
686340168490. 2
686340168491. 3
686340168492. 4

Question Number : 24 Question Id : 68634042659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. A-II B-TV, C-1, D-1II

Options :

686340168493. 1
686340168494. 2
686340168495. 3
686340168496. 4

Question Number : 24 Question Id : 68634042659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340168493. 1
686340168494. 2
686340168495. 3
686340168496. 4

Question Number : 25 Question Id : 68634042660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4, Epicentre

Options :

686340168497. 1

686340168498. 2

686340168499. 3
686340168500. 4

Question Number : 25 Question Id : 68634042660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340168497. 1
686340168498. 2
686340168499. 3
686340168500. 4

Part B: MPT

Section Id : 686340840
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401399
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634042661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per Maslow's hierarchy of needs. which one out of these would be considered as the highest need (out of
the given options)?

1. Security or safety needs

| )

. Affiliation of acceptance needs
3. Esteem needs
4. Physiological needs

Options :

686340168501. 1
686340168502. 2
686340168503. 3
686340168504. 4



Question Number : 26 Question Id : 68634042661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HILC 1 3TaRgebarsii & UghH & 38R, f3u v Hufafad faedl 8 9 foue! 3=ad siawgdd
THAT SITE?

1. R&MT HTa=aaddl

2. TatH YT WIHI0l HaRgdHdl
3. MTH-GHME AHGWEdl
4, RIRIN®G axgddr

Options :

686340168501. 1
686340168502. 2
686340168503. 3
686340168504. 4

Question Number : 27 Question Id : 68634042662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two or more events are said to be if the occurrence of one implies that the other cannot occur.

—

. Equally likely events

| )

. Mutually exclusive events
3. Collective exhaustive events
4. Complementary Events

Options :

686340168505. 1
686340168506. 2
686340168507. 3
686340168508. 4

Question Number : 27 Question Id : 68634042662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 T ey ges B DTN W1 & T U & "ied 81 4 78 3 Febardn & i gudl ueue
SRS

1. GHIA® el

| )

TRER a0 ge-Td

(5]

. ArHfe® 9HY g1

=

Q& g

Options :

686340168505. 1
686340168506. 2
686340168507. 3
686340168508. 4

Question Number : 28 Question Id : 68634042663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The skills including self awareness, identifying limitations, preparedness for unexpected findings are a part

of:-
1. Metacognition
2. Knowledge
3. Metalkmowledge
4. Cognition
Options :
686340168509. 1
686340168510. 2

686340168511. 3
686340168512. 4

Question Number : 28 Question Id : 68634042663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168509. 1
686340168510. 2
686340168511. 3
686340168512. 4

Question Number : 29 Question Id : 68634042664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most common antibody in human serum is:-

1. 1eG

2
=)
=
=

4.1gD

Options :

686340168513. 1
686340168514. 2
686340168515. 3
686340168516. 4

Question Number : 29 Question Id : 68634042664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.1eG

|
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4.1gD

Options :
686340168513. 1



686340168514. 2
686340168515. 3
686340168516. 4

Question Number : 30 Question Id : 68634042665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is not a feature of benign tumor?
1. Its boundaries are encapsulated or well-circumseribed
2. Its growth rate 1s very rapid
3. It usually resembles the tissue of origin closely
4. Metastasis is usually absent
Options :
686340168517. 1
686340168518. 2

686340168519. 3
686340168520. 4

Question Number : 30 Question Id : 68634042665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168517. 1
686340168518. 2
686340168519. 3
686340168520. 4

Question Number : 31 Question Id : 68634042666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When two or more principles conflict with each other and choice of best action is not clear. this is called:-

1. Ethical situation

| B

. Ethical problem
3. Ethical Dilemma
4. Ethical Query

Options :

686340168521. 1
686340168522. 2
686340168523. 3
686340168524. 4

Question Number : 31 Question Id : 68634042666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol & a1 e il &1 oy § ARy S & SR 9divH UagR Sl U Wy Tel aldl. 59
PEd Bl
1. e affufa
Aifcies T
A gfaen
4, A Uy

Options :

686340168521. 1
686340168522 2
686340168523. 3
686340168524. 4

| )
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Question Number : 32 Question Id : 68634042667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Rhythmical control of the breath in yoga 1s:-
1. Dharana
2. Pranayama
3. Pratyahara
4, Dhyana

Options :



686340168525. 1
686340168526. 2
686340168527. 3
686340168528. 4

Question Number : 32 Question Id : 68634042667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT H 45 &1 TS gl

1. YU

| ]

HToTETH
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. HdlglX
4. &1

Options :

686340168525. 1
686340168526. 2
686340168527. 3
686340168528. 4

Question Number : 33 Question Id : 68634042668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The goal of 1s to compensate for absent or impaired abilities and enable occupational performance
of differently abled person.

1. Advanced Technology

[ ]

. Artificial Intelligence
3. Information Technology
4. Assistive Technology

Options :

686340168529. 1
686340168530. 2
686340168531. 3
686340168532. 4

Question Number : 33 Question Id : 68634042668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340168529. 1
686340168530. 2

686340168531. 3
686340168532. 4

| )

(5]

Question Number : 34 Question Id : 68634042669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A personality characteristic that is characterized by high levels of worry. anxiety and depressed mood:-

1. Psychoticism

2. Addictive personality

L¥ 5]

. Sadism

4, Neuroticism
Options :
686340168533. 1
686340168534. 2

686340168535. 3
686340168536. 4

Question Number : 34 Question Id : 68634042669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
_ troofaaa foeR § foraet fadiar s, gfiar SR sourd THe $ SE wR B
1. FTETOar
BRI SHfdkid
RUTSA M
4, dfAeraTuarn

Options :
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686340168533. 1
686340168534. 2
686340168535. 3
686340168536. 4

Question Number : 35 Question Id : 68634042670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

deals with the biological and therapeutic effect of the drugs including the mechanism of drug
action.

1. Pharmacokinetics
2. Pharmacodynamics
3. Pharmacogenetics
4. Toxicology
Options :
686340168537. 1
686340168538. 2

686340168539. 3
686340168540. 4

Question Number : 35 Question Id : 68634042670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 3 & Sifde ik ffedasa wyial & 9 ot fhanfafy o afmfea gl

 BHGIHEA T
4. ffaufaqe

Options :

686340168537. 1
686340168538. 2
686340168539. 3
686340168540. 4
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Question Number : 36 Question Id : 68634042671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The citric acid cycle degrades the substrate to carbon dioxide and hydrogen atoms.

1. Glucose

| B

. Citrate
3. Succinate
4. Acetyl - COA

Options :

686340168541. 1
686340168542 2
686340168543. 3
686340168544. 4

Question Number : 36 Question Id : 68634042671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fyfesd ona ugfea BIUEd Pl HlAT SILH TGS AR S50 URHTUS T Saehid Bl o |

1. T
2. fice

Y

3. gfgg-e
4, TRICE - CoA

Options :

686340168541. 1
686340168542 2
686340168543. 3
686340168544. 4

Question Number : 37 Question Id : 68634042672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In Global context. absolute poverty 1s often measured as
1. Per capita mcome equivalent to less than one international dollar a day
2. Per capita income equivalent to less than one unit of money in the same country a day
3. Per capita income equivalent to less than one unit of money a day of the low income country

4. Per capita income equivalent to less than one unit of money a day of the high income country

Options :
686340168545. 1



686340168546. 2
686340168547. 3
686340168548. 4

Question Number : 37 Question Id : 68634042672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168545. 1
686340168546. 2
686340168547. 3
686340168548. 4

Question Number : 38 Question Id : 68634042673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which structure is an important regulator of Homeostasis?

1. Thalamus
2. Epithalamus
3. Cerebrum
4. Hypothalamus

Options :

686340168549. 1

686340168550. 2

686340168551. 3
686340168552. 4

Question Number : 38 Question Id : 68634042673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168549. 1
686340168550. 2
686340168551. 3
686340168552. 4
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Question Number : 39 Question Id : 68634042674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . . . "
Which structure releases Caleium (Ca“ ") ions to trigger muscle contraction?

1. Transverse tubule

[ )

. Nucleus
3. Sarcoplasmic reticulum

4. Sarcolenuna

Options :

686340168553. 1
686340168554. 2
686340168555. 3
686340168556. 4

Question Number : 39 Question Id : 68634042674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I I TR U= HHaA & e & (70 Sieqad (Ca2™) 3] &1 Higd Bl o7
1. giaad g
g
 Ueiigo ¥ ipad
4. FrepTa

Options :
686340168553. 1
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686340168554. 2
686340168555. 3
686340168556. 4

Question Number : 40 Question Id : 68634042675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The tibial part of Sciatic Nerve 1s formed by the ventral divisions of the anterior primary ranmu of
1.L3.L4L55:5;
2.L4Ls 515, 55
3.L5. L3 L4 Ls.S,
4.15.51.5, 83 3,
Options :
686340168557. 1
686340168558. 2

686340168559. 3
686340168560. 4

Question Number : 40 Question Id : 68634042675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fada dfaer @ fefaga wm & UCIROR Wi Hdl W9 & ded fSfae d §9a1 21

1.1y L Ls8; S,

2.L4L5815,5;
3. LE.L3:L4__L5-S1
4.15.51 5,535,

Options :

686340168557. 1
686340168558. 2
686340168559. 3
686340168560. 4

Question Number : 41 Question Id : 68634042676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In talipes equino varus (or club foot) deformity. the foot i3

1. Everted. Adducted and Plantarflexed

| B

. Inverted. Adducted and Plantarflexed
3. Everted. Abducted and Dorsiflexed
4. Inverted. Abducted and Dorsiflexed

Options :

686340168561. 1
686340168562. 2
686340168563. 3
686340168564. 4

Question Number : 41 Question Id : 68634042676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168561. 1
686340168562. 2
686340168563. 3
686340168564. 4

Question Number : 42 Question Id : 68634042677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A specific test used for the diagnosis of Tennis Elbow is:
1. Cozen's test
2. Finkelstein's test
3. Tinel test

4. Froment sign

Options :
686340168565. 1



686340168566. 2
686340168567. 3
686340168568. 4

Question Number : 42 Question Id : 68634042677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168565. 1
686340168566. 2
686340168567. 3
686340168568. 4

Question Number : 43 Question Id : 68634042678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tearing of Ulnar collateral ligament of the thumb metacarpophalangeal joint is known as:

1. Footballer's thumb

[

. Jumper's thumb
3. Gamekeeper's thumb

4. Housemaid's thumb

Options :

686340168569. 1
686340168570. 2
686340168571. 3
686340168572. 4

Question Number : 43 Question Id : 68634042678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340168569. 1
686340168570. 2

686340168571. 3
686340168572. 4

| )

Question Number : 44 Question Id : 68634042679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Based on the mechanism of head injury, brain injury sustained on opposite side of impact is called

1. Open Head Injury

b2

. Closed Head Injury

L¥ 5]

. Blast Injury

e

. Contre-coup injury
Options :

686340168573. 1
686340168574. 2

686340168575. 3
686340168576. 4

Question Number : 44 Question Id : 68634042679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168573. 1
686340168574. 2
686340168575. 3
686340168576. 4

Question Number : 45 Question Id : 68634042680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Dix Hallpike is a gold standard for diagnosis of which of the following?
1. Nystagmus
2. WVestibular Neuritis
3. Benign Paroxysmal Positional Vertigo
4, Endolymphatic Hydrops
Options :
686340168577. 1
686340168578. 2

686340168579. 3
686340168580. 4

Question Number : 45 Question Id : 68634042680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168577. 1
686340168578. 2
686340168579. 3
686340168580. 4
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Question Number : 46 Question Id : 68634042681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Normal range of cardiac output

1. 3 to 4 litres/min

2

. 4 to 6 litres/min
3. 2 to 3 litres/min

4. 6 to 8 litres/min

Options :

686340168581. 1
686340168582. 2
686340168583. 3
686340168584. 4

Question Number : 46 Question Id : 68634042681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FISTH AP DI IEFAISE B
1.3 g 4cllex/ fime

49 6fieR ) fiFe

3.29¥ 3 ilex/ e

4.6 9 g Tiiex/ fme

Options :

686340168581. 1
686340168582. 2
686340168583. 3
686340168584. 4

| )

Question Number : 47 Question Id : 68634042682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the percentage of maximal oxygen consumption (Vo, Max). moderate exercise intensity is best
detmed at

1. 40-60% Vo, max
2. < 40% V0; max
3. > 60% Vo, max
4. > 75% Vo, max

Options :



686340168585. 1
686340168586. 2
686340168587. 3
686340168588. 4

Question Number : 47 Question Id : 68634042682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SO TH TS FUHNT (VO, max) & AR & YR UR, SUITH &1 “HAH digdr 3l |
afeyTfd o man 3

1. 40-60% VO, max
2. < 40% VO; max
3.> 60% VO, max
4.> 75% VO; max
Options :
686340168585. 1
686340168586. 2

686340168587. 3
686340168588. 4

Question Number : 48 Question Id : 68634042683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is the most appropriate dose for treating Acne with ultra-violet radiaton?

1.E; dose
2. Half of E; dose
3.E, dose
4. E; dose

Options :

686340168589. 1

686340168590. 2

686340168591. 3
686340168592. 4

Question Number : 48 Question Id : 68634042683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168589. 1
686340168590. 2
686340168591. 3
686340168592 4

Question Number : 49 Question Id : 68634042684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vibration and shaking to chest are used in conjunction with postural drainage to clear airway secretions. They
are typically performed only during

1. Inspiration
2. Expiration
3. Inspiration and Expiration
4. Peak inspiration
Options :
686340168593. 1
686340168594. 2

686340168595. 3
686340168596. 4

Question Number : 49 Question Id : 68634042684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168593. 1
686340168594. 2
686340168595. 3
686340168596. 4

Question Number : 50 Question Id : 68634042685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

It 1s the reference pomnt of an immersed object on which vertical forces of fluid predictably act:

1. Centre of gravity

[

. Centre of viscosity

L]

. Centre of propulsion
4. Centre of buoyancy

Options :

686340168597. 1
686340168598. 2
686340168599. 3
686340168600. 4

Question Number : 50 Question Id : 68634042685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168597. 1
686340168598. 2
686340168599. 3
686340168600. 4

Question Number : 51 Question Id : 68634042686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frontal plane pelvic motion in which pelvis elevates (hip hiking) and lowers (pelvic drop) and this motion in
observed by looking at movement of iliac crest opposite to weight bearing extremity. i1s known as

1. Pelvic Rotation

| )

. Lateral Pelvic Tilt

Lag

. Lumbopelvic Rhythm
4. Posterior Pelvic Tilt

Options :

686340168601. 1
686340168602. 2
686340168603. 3
686340168604. 4

Question Number : 51 Question Id : 68634042686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168601. 1
686340168602. 2
686340168603. 3
686340168604. 4

[#5]

Question Number : 52 Question Id : 68634042687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is a contramdication to joint mobilization?

1. Hypermobility
2. Reversible jomnt hypomobility
3. Pain. muscle guarding and spasm
4. Progressive limitation

Options :

686340168605. 1

686340168606. 2

686340168607. 3
686340168608. 4

Question Number : 52 Question Id : 68634042687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168605. 1
686340168606. 2
686340168607. 3
686340168608. 4

Question Number : 53 Question Id : 68634042688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following does not indicate progression during a closed chain exercise?

1. From exercising on stable surface to exercising on a moving surface

| )

. From Exercising on a rigid surface to exercising on a soft surface
3. From exercising on a narrow base of support to exercising on a wide base of support
4. From exercising with eyes open to exercising with eyes closed

Options :

6863401686009. 1

686340168610. 2

686340168611. 3
686340168612. 4

Question Number : 53 Question Id : 68634042688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e & & 1 Tgd-o o H W &1 el ST 82
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Options :
686340168609. 1



686340168610. 2
686340168611. 3
686340168612. 4

Question Number : 54 Question Id : 68634042689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The end feel for elbow extension in a normal individual is
1. Soft

2. Firm
3. Empty
4. Hard

Options :

686340168613. 1
686340168614. 2
686340168615. 3
686340168616. 4

Question Number : 54 Question Id : 68634042689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS YA AfGd & Sl & TaHe YA &I TUs-Hid B 8l

v
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T
4. 318

Options :

686340168613. 1
686340168614. 2
686340168615. 3
686340168616. 4

| )
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Question Number : 55 Question Id : 68634042690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following would offer maximum resistance?

1. A 2-foot red elastic band stretched to 3 feet

| B

. A 3-foot red elastic band stretched to 6 feet
3. A 2-foot red elastic band stretched to 6 feet
4. A 4-foot red elastic band stretched to 6 feet

Options :

686340168617. 1

686340168618. 2

686340168619. 3
686340168620. 4

Question Number : 55 Question Id : 68634042690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168617. 1
686340168618. 2
686340168619. 3
686340168620. 4

Question Number : 56 Question Id : 68634042691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Capsular pattern of Glenohumeral joint is
1. Medial Rotation. Adduction. Lateral Rotation
2. Adduction. Medial Rotation. Lateral Rotation
3. Medial Rotation, Lateral Rotation. Abduction

4, Lateral Rotation, Abduction. Medial Rotation

Options :
686340168621. 1



686340168622. 2
686340168623. 3
686340168624. 4

Question Number : 56 Question Id : 68634042691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| S
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Options :

686340168621. 1
686340168622. 2
686340168623. 3
686340168624. 4

Question Number : 57 Question Id : 68634042692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In Colles' fracture, dinner fork deformity of the wrist and hand is caused due to

1. volar displacement of the lower fragment

[

. dorsal displacement of the lower fragment

LIPS ]

. medial displacement of the lower fragment
4. lateral displacement of the lower fragment

Options :

686340168625. 1
686340168626. 2
686340168627. 3
686340168628. 4

Question Number : 57 Question Id : 68634042692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168625. 1
686340168626. 2
686340168627. 3
686340168628. 4

Question Number : 58 Question Id : 68634042693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most likely structure that is to be injured on forceful abduction and external rotation of the tibia on a semi-
tlexed weight bearing knee

1. Lateral Meniscus
2. Medial Meniscus
3. Anterior Cruciate ligament
4. Posterior cruciate ligament
Options :
686340168629. 1
686340168630. 2

686340168631. 3
686340168632. 4

Question Number : 58 Question Id : 68634042693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168629. 1
686340168630. 2
686340168631. 3
686340168632. 4

Question Number : 59 Question Id : 68634042694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mechanism by which the nerve adapts itself for a constant flow of current

1. Acconunodation

2. Attenuation

L¥ 5]

. Potential Difference

=

. Impedance

Options :

686340168633. 1
686340168634. 2
686340168635. 3
686340168636. 4

Question Number : 59 Question Id : 68634042694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168633. 1
686340168634. 2
686340168635. 3
686340168636. 4

Question Number : 60 Question Id : 68634042695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Paratfin wax bath treatment cannot be used in
1. jomt stiffness and adhesions
2. muscle spasm and pain
3. post immobilisation stiffness

4, fungal infections of skin

Options :

686340168637. 1
686340168638. 2
686340168639. 3
686340168640. 4

Question Number : 60 Question Id : 68634042695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RIS HIF 3aTg & ITER H 9T el a1 &1 Johd|
1. 1S &1 g-1=9d1 U9 3o
2. IRy Wre ug &g
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4, W1 & BT Heh U]
Options :
686340168637. 1
686340168638. 2

686340168639. 3
686340168640. 4

Question Number : 61 Question Id : 68634042696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An excessive anterior pelvic tilt results in an inerease in the lumbar
1. Anterior convexity
2. Anterior concavity
3. Posterior convexity
4, Posterior concavity

Options :

686340168641. 1
686340168642. 2
686340168643. 3
686340168644. 4

Question Number : 61 Question Id : 68634042696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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N Y
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Options :

686340168641. 1
686340168642. 2
686340168643. 3
686340168644. 4

| )

Question Number : 62 Question Id : 68634042697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In genu valgum (knock knee), the lateral aspect of the knee complex 1s subjected to stress.
1. Compressive
2. Subluxation
3. Tensile
4. Distraction

Options :
686340168645. 1



686340168646. 2
686340168647. 3
686340168648. 4

Question Number : 62 Question Id : 68634042697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168645. 1
686340168646. 2
686340168647. 3
686340168648. 4

Question Number : 63 Question Id : 68634042698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Non weight bearing supination of subtalar joint is composed of the coupled calcaneal motions of:-

1. Abduction. eversion. dorsiflexion
2. Abduction. inversion. Plantarflexion
3. Adduction. eversion. dorsiflexion
4, Adduction. inversion. Plantarflexion

Options :

686340168649. 1

686340168650. 2

686340168651. 3
686340168652. 4

Question Number : 63 Question Id : 68634042698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340168649. 1
686340168650. 2

686340168651. 3
686340168652. 4

| )

Question Number : 64 Question Id : 68634042699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The motions that accompany active motion but are not under voluntary control are called

1. rotational motion

| )

. Complementary motion

Lad

. Component motion
4. Supplementary motion
Options :
686340168653. 1
686340168654. 2

686340168655. 3
686340168656. 4

Question Number : 64 Question Id : 68634042699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
d HieH, S feby Tifafafial & T gid § i Wiess Fian d=gigids. dead el
1. el HiIgH
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686340168653. 1
686340168654. 2
686340168655. 3
686340168656. 4

Question Number : 65 Question Id : 68634042700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Scapular anterior and posterior tipping at acromioclavicular joint are named with reference to
aspect of scapula.

1. Inferior

2. Superior

[F%]

. Medial

4. Lateral

Options :

686340168657. 1
686340168658. 2
686340168659. 3
686340168660. 4

Question Number : 65 Question Id : 68634042700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340168657. 1
686340168658. 2

686340168659. 3
686340168660. 4
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Question Number : 66 Question Id : 68634042701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)

Assertion (A): Thoracic outlet syndrome presents with tingling. burning. paracsthesia along the medial border
of palm and forearm with atrophy and weakness of hypothenar muscles. medial 2 lumbricals. interossei, flexor
capri ulnaris and flexor digitorum profundus.

Reason (R): Caused by abnormal compression of neurovascular structures that pass through the outlet and the
common nerve roots involved are Cgand Ty

In the light of the above statements. choose the correct answer from the options given below:
1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
3. (A) 1s true but (R) is false
4, (A) 1s false but (R) 1s true

Options :

686340168661. 1
686340168662. 2
686340168663. 3
686340168664. 4

Question Number : 66 Question Id : 68634042701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168661. 1
686340168662. 2
686340168663. 3



686340168664. 4

Question Number : 67 Question Id : 68634042702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)

Asgsertion (A): Evidence based medicine is defined as the integration of best research evidence with clinical
expertise and patient values.

Reason (R): Systematic reviews, which is comprehensive examiation of literature. is another terminology
used for evidence based medicine

In the light of the above statements. choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

3. (A) 18 true but (R) 1s false

4. (A) 1s false but (R) is true

Options :

686340168665. 1
686340168666. 2
686340168667 3
686340168668. 4

Question Number : 67 Question Id : 68634042702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168665. 1
686340168666. 2
686340168667. 3
686340168668. 4

Question Number : 68 Question Id : 68634042703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)

Agsertion (A): Pursed lip breathing should be taught to every patient with COPD.
Reason (R): Pursed lip brething improves breath control and 1s a potential strategy to reduce respiratory rate.

In the light of the above statements. choose the correct answer from the options given below:

—

. Both (A) and (R) are true and (R) is the correct explanation of (A)

[ ]

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)

[¥N]

. (A) 1s true but (R) is false

s

. (A) 1s false but (R) 1s true

Options :

686340168669. 1
686340168670. 2
686340168671. 3
686340168672. 4

Question Number : 68 Question Id : 68634042703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HU fAU U §: U@ SHTUPHUF (Assertion A) & =0 H fARGT § o GIRT 3HP PRI (Reason R) B
3O

HUHYF A - COPD & Ud® I &l YEe-farg 49 e = =1feu|

BHRUT R : TIC-079 YT 4-F0=01 &1 911 8 3R I8 499 &2 & UeH & gyIfad ifd g

QI BYF & TdiD 1. A [SU U [dhedl H U Tl I &l 99 B I[910:

1.AFRRE TG € SIRR AT Gel TRATE
2. A RREH IU %, dfFTR. A D! Tg! AT 61 ©

3. AT e, AfR 3TT B

4 AT . dfPIR TS

Options :
686340168669. 1
686340168670. 2



686340168671. 3
686340168672. 4

Question Number : 69 Question Id : 68634042704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): During ultrasound application. standing waves are formed if the transducer head is not moved
during the treatment.
Reason (R): Cavitation is the formation of tiny gas bubbles in the tissues as a result of ultrasound vibration.

In the light of the above statements. choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)

3. (A) is true but (R) is false
4, (A) 1s false but (R) 1s true

Options :

686340168673. 1
686340168674. 2
686340168675. 3
686340168676. 4

Question Number : 69 Question Id : 68634042704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A= HYF RUTT §: TP HUSYT (Assertion A) P =0 B fAIEd & 1 T8I 39D BRUI (Reason R)
?ﬂgma_: ECTH3TS & YAN & SRIF TR § C-Hsgak & ¥ &l 9 feam &t fufa § 2fEn a3
mTE;QIHMUS DI DY &b YR WY FHdd! H 119 & Sic gaqal & dIad $l hIdc¥H Hed
Er;ﬁfﬁﬁii:ﬁ? 3l H, =i U T fadedt # I "l SR o1 99 Do

1. ARREA TR IR R AT TS TR
2. A 3R R EFI 9 €. AfT R. A B el ARSI 761 §

3. AT S, AfpTR 3T B

4. AIEIe, AfFTRIA S

Options :



686340168673. 1
686340168674. 2
686340168675. 3
686340168676. 4

Question Number : 70 Question Id : 68634042705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)

Assertion (A): The plasma membrane of excitable cells exhibits an electrical potential difference (voltage)
across the membrane termed as the Resting membrane potential (RMP).

Reason (R): Unequal distribution of ions in the extracellular fluid and cytosol 18 a major factor that
contributes to RMP.
In the light of the above statements. choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

3. (A) 1s true but (R) 1s false

4, (A) 1s false but (R) is true

Options :

686340168677. 1
686340168678. 2
686340168679. 3
686340168680. 4

Question Number : 70 Question Id : 68634042705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BIE| §I S [T T &: U GYT (Assertion A) & =0 T [iEd T T SR 39 BRI (Reason R) &
SO 4:

YT A - FIoHIY DIRABIS Bl Tsed e g1 f3iedil & 3RUR HaiRid degd faHaioR @leedn)
T et fove seamr gl

BRUIR : DIRDETE TRA AR DD 500 T AT D1 SHAH [GaR0 U T HRS ¢ &l RMP H
IRTEH BT g |

SIRIG HY- & 3l H, i< fqu e fasedi # 9 981 3wk &1 99 Sif:

1. ARREA IO E AR R AP TE T &
A MRRIA TR, AfFT R A DI I8 ARS8l &

ATIE. OfPTR 3T

| B

L]

4 ASIIE. APIR IS

Options :

686340168677. 1
686340168678. 2
686340168679. 3
686340168680. 4

Question Number : 71 Question Id : 68634042706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): Dowager's hump is an excessively kyphotic condition found in postmenopausal women who
have osteoporosis.

Reason (R): The anterior aspect of the bodies of a series of vertebrae collapse causing a lack of anterior
support for a segment of the thoracic vertebral colummn. which bends forward causing an increase in posterior
convexity

In the light of the above statements. choose the most appropriate answer from the options given below:

i Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

2. Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
3. (A) 18 correct but (R) 1s not correct

4. (A) is not correct but (R) is correct

Options :
686340168681. 1



686340168682. 2
686340168683. 3
686340168684. 4

Question Number : 71 Question Id : 68634042706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- &1 U= U U §: TP SHUSYT (Assertion A) P U T [fGd § ol G 3P PRUI (Reason R) &

B REE

St A : SIS B SifRUgfRar § difsd Yeiifgfd afeensil o faw arer srafie pas ¢l
BRUIR : YUilag HRSH| & U & [dBd- & HRUI J& T HLUSH WY & QU o STUNT H BRI H1
3PHTE BT © Tored 98 3171 1@ oIl § SiR 9 1 o ¥ Svadl § 9ig 81 ol 8
QWRIT BYF & 3Tl 1. A U U fdhedi § I T! IR &I 99 B IToTs:

1. ARREA TUE IR R AT TS TR B
A IR RS 94 8. AfpT R A B GEt U T8l ©

3. AT S, AfT R 3T B

| )

4 AEIE. ABTR IS

Options :

686340168681. 1
686340168682. 2
686340168683. 3
686340168684. 4

Question Number : 72 Question Id : 68634042707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)
Assertion (A): During warm-up period. there is an increase in muscle temperature.

Reason (R): The higher muscle temperature inereases muscle viscosity and reduces the rate of nerve
conduction.

In the light of the above statements. choose the correct answer from the options given below:

—

. Both (A) and (R) are true and (R) is the correct explanation of (A)

b2

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)

L#S]

. (A) 1s true but (R) 1s false

ey

. (A) 1s false but (R) is true

Options :
686340168685. 1



686340168686. 2
686340168687. 3
686340168688. 4

Question Number : 72 Question Id : 68634042707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- &1 U= U U §: TP SHUSYT (Assertion A) P U T [fGd § ol G 3P PRUI (Reason R) &
B REE

ey A : gH-3U & SR IR auEH H g e 81

BRI R : U BT 9@ § {1 AIYHH U Wdl Bl §eldl & SR dHs! ard- &1 11id & &9 $dl 6|
IR HYA & ATdlP O, Ad feu U fawedi & I 981 SR &1 994 Siforn

AMRRIAI TA T IR R AT TSI TR
A IR R S 94 8. AfhT R. A BT GE U T8l ©

ATIR. ABIR FTT

fa—y

| )

L

4. AT e, AlPTRTT®

Options :

686340168685. 1
686340168686. 2
686340168687. 3
686340168688. 4

Question Number : 73 Question Id : 68634042708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Female athlete triad deseribes syndrome of disorders:-

A Disordered eating
B. Insulin sensitivity
C. Amenorrhea

D. Osteoarthritis

E. Osteoporosis

Choose the correct answer trom the options given below:

1.LAC.E

b2

.B,D.E
3.A.D.E
4 A B, D.E
Options :

686340168689. 1
686340168690. 2



686340168691. 3
686340168692. 4

Question Number : 73 Question Id : 68634042708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afgar faars! Be 54 GeRI & Saeor &1 aulH &idl 6

e fau U fdoredl § O Ogl 3Tk &1 94 Bifof:

1.A.C.E
2.B.D.E
3.A.D.E
4. A.B.D.E

Options :

686340168689. 1

686340168690. 2

686340168691. 3
686340168692. 4

Question Number : 74 Question Id : 68634042709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Steps in formulation of a research problem.

A. Dissert the broad area into subareas
B. select what is of most interest to you
C. formulate objectives

D. raise research questions

E. identify a broad field

Choose the correct answer from the options given below:

1.LE.A B, C, D

[

EABDC
3 HA DB €
41 A EDB.C

Options :

686340168693. 1
686340168694. 2
686340168695. 3
686340168696. 4

Question Number : 74 Question Id : 68634042709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HOT YUY & DN & =R0N DI hH:

A. fa%qd &7 o1 Sugsl & fasigd e

B. W94 &1 Tad JdH @ ald BT 94+ Bl
C. S0l Dl JAGG BT

D. eI UY Bl 3T

E. fad &7 &1 ygaH &l

- fau e fasedl O 9 U8l ST &1 994 ifor:

1.LEABCD

[ ]

B ACB I B
3. ELA.D,B.C
4. A B DB, C

Options :

686340168693. 1
686340168694. 2
686340168695. 3
686340168696. 4



Question Number : 75 Question Id : 68634042710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence of electromagnetic radiation in mecreasing order of frequency:-

A. Infrared radiation

B. X-rays

C. Visible Radiation

D. Microwaves

E. Ultraviolet Radiation

Choose the correct answer from the options given below:

1. D-B-C-A-E

| B

. D-A-B-C-E

Lad

.D-A-C-E-B
4, B-E-C-A-D

Options :

686340168697. 1
686340168698. 2
686340168699. 3
686340168700. 4

Question Number : 75 Question Id : 68634042710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faegd @i fafexull o1 gedl 53 g & 98l HH T UPR B :

A, 3fa¥ad fafepro
B. X-faur

C. T2gHH fafdu
D. G T

E. QAT fafdso

14 fau U fawedi & 9§ 951 SR ®1 99 Difold:

1. D-B-C-A-E

| )

. D-A-B-C-E

LFN]

.D-A-C-E-B
4. B-E-C-A-D

Options :



686340168697 1
686340168698. 2
686340168699. 3
686340168700. 4

Question Number : 76 Question Id : 68634042711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence of hemodynamic changes that occur at the beginning of an inflammatory response is as
follows:-

A. Persistent progressive vasodilation

B. Transient vasoconstriction

C. Slowing of microcirculation that causes increased concentration of red cells.

D. Elevated local hydrostatic pressure resulting in transudation of fluid into the extracellular space
E. Leucocytic margination.

Choose the correct answer from the options given below:

1.BALC,DLE
2BADCE
ABCDE
4. A.B.D.C.E

Options :

686340168701. 1

686340168702. 2

686340168703. 3
686340168704. 4

Question Number : 76 Question Id : 68634042711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



iy wfaftear & ARy ¥ 8F ard giasEaie geasi &1 3Hd $H ST TeR &

A, FRE ool arfet faem Ry

B. &ifUrep aTfgepT GBiu

C. Y& TRE=RU1 BT S g1 o ara Sifieiah & igur § gfg et 8
D. W% 5aifae ore ¥ 9fg o Ra sikieer ®F § TRafdd eidr s
E. am] T

= fau e fg@ed & @ Ot S &1 9uF P

1. B.A.C.D.E

-2

B ADCE
3.A.B.C.,D.E
4. A.B,D.C.E

Options :

686340168701. 1
686340168702. 2
686340168703. 3
686340168704. 4

Question Number : 77 Question Id : 68634042712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The sequence of events during cross-bridge cycle (muscle contraction) are:-

A. Change in shape of troponin-calcium complex uncovering active sites on actin.
B. Muscle is at rest.

C. Arrival of nerve impulse, generation of action potential, release of Ca®™ jons.

D. The cross-bridge uncouples from the active site and retracts.

E. Linkage of a cross-bridge. ATP splits and the actin myofilament 1s pulled a short distance past the
myosin,

Choose the correct answer from the options given below:

1. B, CE A D

[ )

B, C.AE D
3B G DIAE
4. B.C.E,. DA

Options :

686340168705. 1

686340168706. 2
686340168707. 3



686340168708. 4

Question Number : 77 Question Id : 68634042712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w19-foe Arsfora (U-Sgra) © 81 arel g3l &1 1 59 PR o

A THIFH- 0 ST & PR H gaand oy Uiee IR Hithd ®Id SHFaa sld 6 |

B. UL 3R &t g T 8|

C. dfFe Aan & oF g fBarfavs ot Safy iR Sfeqgw sm=i o aEA|

D. H1O-f5re Tfthg ®@ § @7 8IdT § 31k aras Rie oar |

E. ﬁa?aarw ATP &1 g1 3R Ufde dq AR I gid gU Us oid] ol & forg @i
iG]

19 fdu e fasedl § 9 Il SR &1 994 DIy

1.B.C.E.A.D

208, . A B, I
3B.C.D,AE
4 B.C.E.D. A

Options :

686340168705. 1
686340168706. 2
686340168707. 3
686340168708. 4

Question Number : 78 Question Id : 68634042713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of treatment to gain and reinforce functional mobility 1s as follows:-

A. Relax the muscles (eg. using grade I or II joint oscillation technique)

B. Joint mobilization stretches and passive stretch of peri-articular tissues

C. Warm the tissues

D. Patient to actively use new range (e.g active ROM techniques)

E. Maintain new range and instruct patient to do self-stretching, active - resisted ROM exercises and
functional activities using the new range

Choose the correct answer from the options given below:
1.E, A,B,D,C
2.CABDE
3.8/, Dy B B

4. C.D.A.B.E

Options :

686340168709. 1
686340168710. 2
686340168711. 3
686340168712. 4

Question Number : 78 Question Id : 68634042713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTATHS TaLadl &1 U H37 3R Geg B & [T TR BT 3ad HH 540 THR o

A, R Fl oy F1 (o & T8 191 11 OIS &1 g9 arell ddH 1@ &1 TaH aXap) |

B. SaT5¢ HIfGRoRH % d Ud 9ils & U & $d@ &l F%ed X

C. Had| ol TR BT

D. I 715 39 &1 WA AT =0 ¥ B (o [ Tiehd ROM TH-1d1 gRI) |

E. 75 301 D1 H10H @1 AR I B 75 I $1 WG $Rd gU Jeb- 47, Fieha-faRIeTeE S ROM
TTH Ud SHIaiES afafedi & & fau &gl

= fau e fgaed & @ Ot S &1 95 P

1.LE. A B.D,C

2.C,A.B.D.E

3.C.A.D,B,E

4. C.D.A.B.E
Options :

686340168709. 1
686340168710. 2



686340168711. 3
686340168712. 4

Question Number : 79 Question Id : 68634042714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Capsular pattern of shoulder in adhesive capsulitis

A, External rotation
B. Flexion
C. Abduction

D. Complete restriction of joint play and osteokinematics
E. Internal rotation

Choose the correct answer from the options given below:
1.LE,C.A.B.D
2.A.C.D.B.E
A C B DE
4. A.C.E.B.D
Options :
686340168713. 1
686340168714. 2

686340168715. 3
686340168716. 4

Question Number : 79 Question Id : 68634042714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSR duaeied § &4 $1 $ReR U

A. UgCd AT
B. TaQH
C. eI

D. SaT5¢ W Ud caidig-aicd & gul =9 I aTed g
E. SeAd YA
= fau e fg@ed & @ Ot S &1 9uF P

1.LE. C. A B.D

2 ACD B E
3.AC.B.D.E
4 A C.E.B.D

Options :

686340168713. 1
686340168714. 2
686340168715. 3
686340168716. 4

Question Number : 80 Question Id : 68634042715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Developmental Dysplasia of the hip iz characterized by the presence of Klisic sign. Ortolani test
of reduction and Barlow test of exit.

Statement II: Treatment of choice for the Development Dysplasia of the hip 1s providing the cluld with
Dennis-Brown Splint.
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

wd

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II 1s true

Options :

686340168717. 1
686340168718. 2
686340168719. 3
686340168720. 4



Question Number : 80 Question Id : 68634042715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I E A IC AR (N

DY : Bog DI (a1 ST [da¥e aIgA. slefar! o S RearH R ardl ¢ % Uiae
& Fufiufa & ifiaefe g1

DYFIL : Peg & [dpH| (ST & IUAR & A6 H a1ad Bl SH9-513 [gie far «ar g
SWRIGd PY= D T |, Fid (ST MU f[ddhedi § I 981 SR &1 99 DI

1. YT AR 11 SF1 9 &
2. PYT1 RIS AT

3. PYTITA R AP U 3 &

4. PYT I AT e, AfPT PYT I I @

Options :

686340168717. 1
686340168718. 2
686340168719. 3
686340168720. 4

Question Number : 81 Question Id : 68634042716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Beneficence for a physiotherapist means that he should work in such a way that he prevent harm
and not mjure a patient.

Statement IT: Nonmaletficence for a physiotherapist means that he should do what 1s best for the patient.

In the light of the above statements. choose the eorrect answer from the options given below

1. Both Statement I and Statement II are true

[

. Both Statement I and Statement I are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT 1s true

Options :

686340168721. 1
686340168722. 2
686340168723. 3
686340168724. 4



Question Number : 81 Question Id : 68634042716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 31 Py Ry U &

FYA 1 : Hifae-Rifeas & fow Sumiiar &1 3 18 § i 96 59 UeR oo &2 i ag g1ifh T a9 @ik

Tt @ effaiRdg A &Y

g%ﬁn - Jifas Rfows & fow IR-sve: &1 3 g8 § & 98 I & forw 98 o & 39 fou 9aaH
r

SR FYF & AEIP 1, Aid [SU T fabedi § I 98l 3R &1 994 Sifoie:

1. DU ARSI T E
2. YT AR SHI 3 S

3. PUTITA R AP U 3T &

4. PYTI AT e, AP YT I I

Options :

686340168721. 1
686340168722. 2
686340168723. 3
686340168724. 4

Question Number : 82 Question Id : 68634042717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Obsessive Compulsive Disorder 1s an anxiety disorder characterized by persistent, recurring,
unpleasant thoughts and repetitive, ritualistic behaviors.

Statement II: Anorexia nervosa is an eating disorder characterized by an obsessive desire to lose weight by
refusing to eat.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1s false
4. Statement I is false but Statement 1T is true
Options :
686340168725. 1
686340168726. 2

686340168727. 3
686340168728. 4



Question Number : 82 Question Id : 68634042717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

APy R )

YT 1 - ATeafiyg Hfeag fEgairs te van ®1 fapR § o fos FRaR, anadf. ssfe fgart 3Rk
TG, HTIRID HdgR H AU T gidT 6

HYA 11 : TR AN U W@H-UH &1 fad i § ol b @ &1 9 Wi go ueH &1 HH1R 915 9
sifiraaforg gl

SWRIGd YA & AP 1, 1 [SU U [dhedl § T ol 30 1 994 Do

1. BYT I AR I GH 9 &
2 BYFI AR ST A &

3 PYT I e, Al PUT I HTT &

4. YT TS, AfpT PYT I I &

Options :

686340168725. 1
686340168726. 2
686340168727. 3
686340168728. 4

Question Number : 83 Question Id : 68634042718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Shock is a life threatening condition characterized by an acute reduction of effective circulating
blood volume and an madequate perfusion of cells.

Statement II: In hypovolaemic shock. there 1s sudden fall in cardiac output from acute diseases of the heart
without actual reduction of blood volume.
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

3. Statement I is true but Statement I 1s false

4. Statement I 15 false but Statement 11 is true

Options :
686340168729. 1



686340168730. 2
686340168731. 3
686340168732. 4

Question Number : 83 Question Id : 68634042718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g HyT e &

PYT1 : Ui Wi Dl SIRGH H STe- ard! a8 aRT & ol fop TR Iad & YHId! 3ad- ®f dig SHT
3R BIfR®Il & i weE § AfiaaiE sl

®Y 11 : gIgUIdiieiitied Qid & g5 & did [ddRI & SR TG & 3mgdH & arkdide HHl gu fa-
FIfeg® A3eye H @ &4l el B

QWRIT BYF & 3Tl 1. d U U fdhedi § I Tl I’ &I 98- B IToTu:

1. DU ARSI T E
2. YT AR SHI 3 S

3. PUTITA R AP U 3T &

4. PYTI AT e, AP YT I I

Options :

686340168729. 1
686340168730. 2
686340168731. 3
686340168732. 4

Question Number : 84 Question Id : 68634042719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Autoclave is used to sterilize instruments, linens, utensils, and treatment trays.

Statement II: Autoclave cannot be used for heat sensitive articles.

In the light of the above statements. choose the eorrect answer from the options given below

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement II are false

LF%]

. Statement I is true but Statement II 1s false

4. Statement [ is false but Statement IT 1s true

Options :
686340168733. 1
686340168734. 2



686340168735. 3
686340168736. 4

Question Number : 84 Question Id : 68634042719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARG R e

BYT1 - 3HTeigea DI TaNT TSN, -, ORI Td IUER ¢ & (oo & U gar gl
FYA 11 - Tciadd &1 UaH SHHI-Gdd IuHIn & forg =2t fvar o g&ar g

SRIGd FYF & AEIP 1, Aid [SU U fasedi 1 1 981 3 &1 99 Sifoe:

1. BYF 1 3R I &F O &
2. YT AR SHI 3 S
3. PUA I T 8. Al PUA I 3 ©

4. PYTI AT e, AP YT I I

Options :

686340168733. 1
686340168734. 2
686340168735. 3
686340168736. 4

Question Number : 85 Question Id : 68634042720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Slow oxidative muscle fibers are large in diameter and white in colour.

Statement IT: Slow oxidative muscle fibers have slow speed of contraction and low rate of fatigue.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT 1s true

Options :

686340168737. 1
686340168738. 2
686340168739. 3
686340168740. 4



Question Number : 85 Question Id : 68634042720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A C LRI e

PYT - T MFSfca Ui F W A T g IR TIPS gid ol

DY - Tl SHiFdISea Uit & W=l &1 Spa- &1 71id &1 Ud Hild (YD) B &I dH 6ldl |
SWRIGd YA & AP H, 1 [SU U [dhedl § T ol 30 &1 994 DI

1. DU ARSI T E
2 BYFI AR ST A &
3. BYTI A &, AfeT SYT 11 3T ©

4. PYTI T B, AT YT I T ©

Options :

686340168737. 1
686340168738. 2
686340168739. 3
686340168740. 4

Question Number : 86 Question Id : 68634042721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Upper abdominal surgeries acts as an extrathoracic restriction and reduces lung volumes
resulting in impaired gas exchange and airway clearance.

Statement II: Positioning mobilization, non-invasive positive pressure breathing and pain management are the
mainstay physiotherapy in the post operative period in upper abdominal surgeries.

In the light of the above statements. choose the correet answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I 1s false but Statement IT is true

Options :

686340168741. 1

686340168742. 2

686340168743. 3
686340168744. 4

Question Number : 86 Question Id : 68634042721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

2 g1 By [dY MU &

U1 : HHd I DI UAfpans afe-aefity uRdy= 1 avg o1 ol § IR Bhel & ad- & gelas
19 fafma ok wa-freamee & T1fid Bl 8

FYT 11 : THOTT. FifSageH. AH-3a14a gifeifed TSR 487 3R 53 BT Uae= 3t 3o &
Rreafirarsit & Swiq Hifde fafean & 7@ R €

SWRIGd PYT D T |, Fid [T U f[ddhedi § I 981 SR &1 99 DI

1. DU IR G A &
YT RIS S ©

YT I Id ¢, dfb HUT 11 IEd ©

| )

[#5]

4. PYT I HIA e, AfPT PYT I T B

Options :

686340168741. 1
686340168742. 2
686340168743. 3
686340168744. 4

Question Number : 87 Question Id : 68634042722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Stages of Adhesive capsulitis are

A. Aching
B. Freezing
C. Swelling
D. Thawing
E. Frozen

Choose the correct answer from the options given below:

LA Band C
2.B.Cand D
3.C.Dand E
4.B.Dand E

Options :

686340168745. 1

686340168746. 2

686340168747. 3
686340168748. 4

Question Number : 87 Question Id : 68634042722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

USTId SAgcy & (A= TR g9 YOR g -

A T
B. WIfSiT
C. fef

D. YIE7
E. ThiviH

- faU T faw et 7 9 Tel STR &1 904 Sifg:
1. HPAU A, BC
2. $4aUB.C,D
3.%de C.D.E
4. PAUB.D.E

Options :

686340168745. 1
686340168746. 2
686340168747. 3
686340168748. 4

Question Number : 88 Question Id : 68634042723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following appropriately describes the stages of labour?

A. Expulsion of Placenta

B. Uterine prolapse

C. Pushing and expulsion of foetus
D. Dilation of Cervix

Choose the correct answer from the options given below:

1. D. C and A only

| )

.C.D and B only
3.D. B and A only

4. B. C and A only

Options :

686340168749. 1
686340168750. 2
686340168751. 3
686340168752. 4



Question Number : 88 Question Id : 68634042723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{1 3 O 1 Ta- ST o =RUT BT SUgeR =9 U auiH $HRd 82

A AT &1 Fp R

B. THIRM &1 g

C. YUI Bl Yeb i1 Ud Fehre
D. idad &1 [dupR

=it fau T fawedt 7 9 Hel SR &1 904 DI
1. $ad D, C 3R A
2.%dd C. D 3R B
3.%ddD.B 3R A
4.PaAB.C IR A

Options :

686340168749. 1
686340168750. 2
686340168751. 3
686340168752. 4

Question Number : 89 Question Id : 68634042724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following conform with ethical principles of physiotherapy practice?

A. Physical therapists should not expect co-operation from their colleagues

B. Physical therapists cant refuse to treat when the service is not in the best interest of the patient
C. Physical therapists accept responsibilities for the exercise of sound judgement.

D. Physical therapists respect the rights and dignity of all individuals.

Choose the correct answer from the options given below:

1. A B and C only

| )

. C and D only
3. C.B and D only

4. A and D only

Options :

686340168753. 1
686340168754. 2
686340168755. 3
686340168756. 4



Question Number : 89 Question Id : 68634042724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 & T i e snam & 3ie Rigidl & s &

A Wifdw fafeas &1 s gewitfal @ geam ot amen 7af W&+t =gl

B. U1 & 371 & f&d & 7 g1 arelt fufa & vifde Rifves STaR & fau 51 78 & 9@
c. Wide Fipds fadeyul (Hola & Hsae & fou fSeeRt dl

D. Hifd® fafews It arfaaal & AfeR vd ufdy & 99H &1

i fau e fgeed & @ 98t S @1 9uF S
1.PATA.B&C
2. $auC. D
3. %4dC.B.D
4. P9UA.D

Options :

686340168753. 1
686340168754. 2
686340168755. 3
686340168756. 4

Question Number : 90 Question Id : 68634042725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a sign muscle fatigue?

A. Active movements become smooth.

B. Increase in peak torque during isokinetic testing.

C. An uncomfortable sensation (like pain/cramps) in the muscle.
D. Use of substitute motions to complete movement patterns.

E. Tremulousness in the contracting muscle.

Choose the correct answer from the options given below:
1. A. B and C only
2.B.Cand D only
3.C.D and E only

4.D. Aand E only

Options :
686340168757. 1
686340168758. 2



686340168759. 3
686340168760. 4

Question Number : 90 Question Id : 68634042725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 T 9 1= § Uit 4ifd (ue) & aemn g2
A. Ffspg iafafimt ga 81 ot 8
B. 3gHIdIEATCd HRI&UN & SR Sy gasmeul & gis |

C. U=t Srgfaerse Hag (oY & e, $)
D. TIfafET B1 ol w3 & g Ffeqre Tiataiedi o1 uanT

E. Y g2t Uil &1 SHig
- faU T faw et 7 9 Tel STR &1 904 Sifg:
1. $dA A, B.C
2. $4aUB.C,D
3. $ad C. D.E

4. PAAD.A.E

Options :

686340168757. 1
686340168758. 2
686340168759. 3
686340168760. 4

Question Number : 91 Question Id : 68634042726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
During TENS application, electrodes may be placed:-

A. Over or close to the painful area.

B. Over the corresponding dermatome/myotome

C. Over insensitive skin

D. Over the pharyngeal area

E. Over the nerve roots close to the vertebral column

Choose the correct answer from the options given below:

1. A.B. C only

b2

.A.B.E only
3.B.C.E only

4. B.D. E only



Options :

686340168761. 1
686340168762. 2
686340168763. 3
686340168764. 4

Question Number : 91 Question Id : 68634042726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TENS & W01 & GRMF 50delS R P o Il o

A. 35 a0 &7 R 1 39% I

B. YU IHGH Sfyal MUl |vs i)
C. AT @dl 4R

D. U5 8F IR

E. BUP® &5 & THT Ad-9¢ T

19 fqu T fasedi § 9 Il SR &1 99 DIy
1.9PdU A, B.C
2. HAdA.B.E
3. %AdB.C.E
4, HddB.D.E

Options :

686340168761. 1
686340168762. 2
686340168763. 3
686340168764. 4

Question Number : 92 Question Id : 68634042727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the part of hip bone of Pelvic girdle?

A. Ischium
B. Femur
C. Ilium
D. Pubis

Choose the correct answer from the options given below:
1. A.B. C only
2.B.C.Donly
3.A.C.Donly

4.B. C. A only

Options :

686340168765. 1
686340168766. 2
686340168767. 3
686340168768. 4

Question Number : 92 Question Id : 68634042727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 4 o 01 e &1 Pee DI g1 B HI 62

A SiEmy
B. BITR
c. sforayg
D. Wfed

=it fau T fawedt 7 9 Hel SR &1 904 DI
1. PdA A, B. C
2. ®dd B, C,D
3. %AUA,C.D
4, HAUB, C, A

Options :

686340168765. 1
686340168766. 2
686340168767. 3
686340168768. 4

Question Number : 93 Question Id : 68634042728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Structures involved in middle cerebral artery syndrome are

A. Primary Motor cortex and internal capsule
B. Primary visual cortex or optic radiation

C. Left occipital lobe

D. Parietal lobe

Choose the correct answer from the options given below:

1. A. B only

| )

.B. C only
3.C.D only
4.D. A only
Options :
686340168769. 1
686340168770. 2

686340168771. 3
686340168772. 4

Question Number : 93 Question Id : 68634042728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s vaiass yreit Sason o yuTiad $Re18 4 8
A. VTSR] HieR H1ead 3R Se-d oy

B. UISHR] ao3ra SIcad a1 e J(SueH
C. 918 Sffgaiied aig

D. WRgcd did
= fau e fawed & @ 9l S| @1 9y Fifew:
1. PITA. B
2. Had B, C
3.HaUC. D
4. Hdd D, A

Options :

686340168769. 1
686340168770. 2
686340168771. 3
686340168772. 4



Question Number : 94 Question Id : 68634042729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Blood Clotting | I. [Vitamin By, By, C. Folate

Blood formation| II. [Vitamin A
[Eve Function ITT. |Vitamin K

Bones IV Vitamin A, D, C

R

Choose the correct answer from the options given below:

1. AL B-I. C-II. D-IV
2. A-I. B-III. C-I1. D-IV
3. A-IL B-III. C-IV. D-I
4. A-II. B-IV. C-III. D-I

Options :

686340168773. 1

686340168774. 2

686340168775. 3
686340168776. 4

Question Number : 94 Question Id : 68634042729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i
T 1 Tl 1
A [fiR®hes | 1 [[9e1fF B, By,. C, BITiE

itciuil BN Ry
et e |11 [faeiia K
SRl IV [[dei@H A D. C
i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;

1. A-III, B-I. C-II. D-IV

CIRE

[

cA-L B-IIIL C-IT. D-IV

L¥ 5]

CA-IL BAIIIL G-IV, D-I
4. AT, B-TV. C-111. D-I
Options :

686340168773. 1
686340168774. 2



686340168775. 3
686340168776. 4

Question Number : 95 Question Id : 68634042730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A A political system that denies popular participation in government [ [Capitalism
B. |An organizational model rationally designed to perform complex tasks efficiently IT. JAuthoritarianism
C. |Diverse economic systems which stress private ownership, profit and free markets II1. |Bureaucracy
The process by which some nations enrich themselves through political and economic control of | .. - i
D. % IV [Colonialism
other countries

Choose the correct answer from the options given below:

1. A-II. B-III, C-IV. D-I

[ ]

AL B-IIL C-IV, D-I
3. A-IIL, B-II. C-1. D-IV
4. A-IL B-III. C-1. D-IV

Options :

686340168777. 1
686340168778. 2
686340168779. 3
686340168780. 4

Question Number : 95 Question Id : 68634042730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1S 1Y G 11 BT fHer i

Gl T 1
A RreiTdae uuned! [ogH TWReR H Om GRieR] sidd gldl 1 [dsiiae
B. [47T6- &1 Hisd g wiicd &1l Bl HReid] § B3 & (oY [dadyul Aimicd fear e | 1 [gxmard
2 ﬁ%ﬂ&ﬁ%mmﬁﬁﬁﬂmmw@ﬁﬁaﬂwmwﬁmmﬁ | 111 [Hiax=e]
o %I%&Tﬁmﬁm@mgmm%wﬂmmaﬁ?aﬂ%ﬁammmﬁﬂﬁa e —
i f4U T faeedl O © Wel 3R &1 99 Sifoy ;

1. A-II., B-II1. C-IV. D-I
2. A-IIL B-1L. C-IV, D-I
3. A-IIL B-11. C-1. D-IV
4. A-IL B-III. C-1. D-IV

Options :

686340168777. 1
686340168778. 2
686340168779. 3
686340168780. 4

Question Number : 96 Question Id : 68634042731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LIST I (Class of Anti-Hypertensive Drug)| LIST II (Example)
A |Loop diuretic I. [ICAPTOPRIL
B. |Calcium Channel Blocker II. [FRUSEMIDE
C. JACE Inhibitor II1. [ICLONIDINE
D. [Central Sympatholytic IV, VERAPAMIL

Choose the correct answer from the options given below:

1. A-II. B-IV. C-1. D-III
2. A-II. B-I. C-II1. D-IV
3. A-IV. B-I. C-II. D-III
4. A-IV. B-III. C-II. D-I

Options :

686340168781. 1

686340168782. 2

686340168783. 3
686340168784. 4



Question Number : 96 Question Id : 68634042731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 & 91y g 11 BT e Sifoie
@I@m&ﬁrzﬂﬁaﬂmﬁmmﬁ = 1 (3&Tex0)
U SRdcE

I |[Brifta
B. mew 1L [pyHEs
C. |ACE Teo® Il cSIGIER!
D. [F=d fgmyiiies IV. [@amoTad
i fau Tt fasedl O I 9El STR &1 999 I -

1. A-IL. B-IV. C-I, D-III

| ]

. A-ILL B-1, C-III. D-IV
3. A-IV, B-1, C-1I, D-III
4. A-IV. B-IIL C-II. D-I

Options :

686340168781. 1
686340168782. 2
686340168783. 3
686340168784. 4

Question Number : 97 Question Id : 68634042732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Disorder) LIST II (Clinical Feature)
A |Osteomalacia 1. |Bouchard's Nodes and Heberden's nodes
B. |Osteoporosis IT. |Osteitis fibrosa cystica
C. |Osteoarthritis III. [Looser's zones bones can be seen in the bone
D. [Hyperparathvroidism | IV. [Thinning of bony trabeculae and generalized rarefaction)

Choose the correct answer from the options given below:

1. A-III, B-IV. C-I. D-II

| E)

CA-IIL B-IV, C-1. D-III
3. A-IL B-1, C-IV, D-III
4. A-I1, B-1II, C-1. D-IV

Options :

686340168785. 1

686340168786. 2
686340168787. 3



686340168788. 4

Question Number : 97 Question Id : 68634042732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 % 1Y =l 1 BT o SIS
T 1 (i) T 1 (e far=raen
A [sfemea L [§dls 418 Ud gasd s
B. [erRugmRar 11 [3fMRE33e Brearl FRE®
C. [sriegraiiyisied 1 [i®y & TR 95 ¢ o 9dhd &
D. [JR1ag 3ifdifshad | IV. |3y ol &1 & g1 Ud Fifdd fd¥eH

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-TIIL, B-IV. C-1. D-I1

| o

A-IL B-IV, C-1, D-III
3. A-IL B-I, C-IV, D-III
4. A-IL B-I1I. C-1. D-IV

Options :

686340168785. 1
686340168786. 2
686340168787. 3
686340168788. 4

Question Number : 98 Question Id : 68634042733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

Muscle of lower Limb) Nerve Supply
Peroneus Longus | 1. |Superior gluteal nerve
Gluteus Minimus | I1. [Femoral nerve

Sartorius 111 |Superficial peroneal nervel

T REE

Tibialis Anterior | IV [Deep peroneal nerve

Choose the correct answer from the options given below:

1. A-III, B-I. C-II. D-IV

[ ]

CA-IV. B-1. C-11, D-III

3. A-III, B-1IV, C-II. D-I

4. A-IV, B-IIL. C-II. D-I



Options :

686340168789. 1
686340168790. 2
686340168791. 3
686340168792. 4

Question Number : 98 Question Id : 68634042733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-III, B-1. C-II. D-IV
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A-IV, B-1, C-11, D-III
3. A-III, B-IV. C-II. D-I
4. A-IV. B-IIL C-II. D-I

Options :

686340168789. 1
686340168790. 2
686340168791. 3
686340168792. 4

Question Number : 99 Question Id : 68634042734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Tvpe of Joint Example of joint
A Pivot joint I. [First chondrosternal joint
B. [Saddle joint I1. [Symphyvsis pubis
C. |Secondary cartilaginous joint] II1. |Carpometacarpal joint of thumb
D_ [Primary Cartilaginous joint | IV [Median Atlantoaxial joint

Choose the correct answer from the options given below:

1. A-IV. B-III. C-I. D-II

[ ]

CA-IV. B-IIIL. C-1I1, D-I
3. A-IV, B-I1I, C-1I1. D-I
4. A-III. B-IV. C-II. D-I

Options :

686340168793. 1
686340168794. 2
686340168795. 3
686340168796. 4

Question Number : 99 Question Id : 68634042734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV. B-IIL. C-I. D-II
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CA-TV, B-IIIL. C-I1L D-I
3. A-IV, B-I1, C-II1, D-I
4. A-III, B-IV. C-II. D-I

Options :

686340168793. 1
686340168794. 2
686340168795. 3
686340168796. 4



Question Number : 100 Question Id : 68634042735 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A |Broca's speech area I |Area 4
B. [Primary motor area II. |Area 44 and 45
C. |Visual Association Area IT1. |Area 5 and 7
D. [Somatosensory association Areal IV. |Area 18 and 19

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV. D-II

| )

. A-IL B-1., C-IV, D-III
3. A-IL B-I. C-III, D-IV
4. A-I. B-II, C-IV, D-III

Options :

686340168797. 1
686340168798. 2
686340168799. 3
686340168800. 4

Question Number : 100 Question Id : 68634042735 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-IIT. C-IV. D-I1
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A-IL B-1. C-IV, D-III
3. A-II, B-1., C-III. D-IV
4. A-1. B-II. C-IV, D-III
Options :

686340168797. 1
686340168798. 2



686340168799. 3
686340168800. 4



